Answere

GGG Investigations 1-2 ... More Practice

For each table of data below, decide if it represents a linear or exponential relationship, and write the
equation.
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6. Bacteria in a dirty glass double every hour. If there are 25 bacteria to start, how many are in the glass

after 8 hours? N ij x:z
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7. Toby ate half a banana in his room and forgot to throw the rest away. That night, two gnats came to
visit the banana. Each night after, there were four times as many gnats hanging around the banana.

a. Write an equation that models the gnats’ growth over time. Use x for the nights and y for the

number of gnats. %:— Q‘(_’q—>$

b. Tobys mom said that he will be grounded if the gnats number more than 120. On what night will
Toby be in trouble if he doesn’t step in and solve the gnat problem?
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8. The most recent virus that is making people ill is a fast multiplying one. On the first day of the illness,
only 6 virus “bugs” are present. Each day after, the amount of “bugs” triples.

a. Write a function that models the “bugs” growth over time. Use x for days and y for the amount

of “bugs.” %: 2 L3>)<

b. How many “bugs” will be present by the 5th day?
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